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I v mwn: contrasting the prohibitions of o7 and 25n
a  a5m carries nYyn and 8nvVY AN 5190 attach to it
i source (for nowpattaching to 35n): )Ry ’1: v. 1; re mwn 113 19, is compared to DNV MY MR
1 which ends up: teaching us about D'n%w MK;
(a) just as: YN 113 19 is subject to Nyn (none is eaten); so DN MR (including vabn) are subject to NYyn
2 reaction (1211 77): what is deficient about *27’s teaching, using v. 2 to teach that 5"pTp R are subject to n»yn
3 defense: that alone wouldn’t teach about non-n’a%n that are 1R
(a) and: the comparison in v. 1 wouldn’t include the fat of the tail, (doesn’t exist in 17w)-> we need 25n %
ii  tangential challenge (‘2ar 715 »3p 77): if WYX is considered “25n”; it should be forbidden from consumption
1 answer (‘722r 9): v. 3 indicates that 25n is only forbidden if it is common to all 3 mmnv Mnna
2 answer (*wx 77): the tail is called 7980 1250 (v. 4) not unmodified 250
(a) challenge: if so, n%yn should not attach
(b) rather: we reject »o& "1 and prefer Tar "v's answer
iii ~ source: for nyn not attaching to o7
1 x5 v.5- 135, meaning “it is yours”
2 SNppw 77 237.v. 5 — 1939, meaning it is given for n12 and not for n%yn
3 pnr 77 v.5 - Rn; means that it always had the status it achieved after 0193 (no n»yn)
(a) challenge: the inverse could be inferred; it always had the status of before n183 (n>»n attaches)
(b) block: there is nothing which, once having completed its task, still has n%yn attached
(i) challenge: 7970 NN, per V. 6, still has N%yn attached even after being placed near the nam
(if) defense: 7"mAan and NN *Ma (v. 7) are TR PRI PN AW > can’t be a model
1. challenge: that answer only works for 1327, who interpret nw nn»1m as requiring nra
a. but: for Ro¥T ", who understands ow onm as only disallowing use for another >"nv, there
are no 1213 1w and we should infer from 1M n
(iii) rather: 7"mA N and nNaMIY NY3Y are TNRI DRIN DN NV
1. challenge: nT> 1 maintains that TnX> D’Xan 021N 1w can be a model — how can we answer
2. answer: there is an exclusionary phrase in each -
a. 77177 W — this and no other
b.  A919p ALY NYIYN
(c) note: the need for 3 verses excluding o7 (above)
(1) 772 excludes o7 from N
(ii) Aswp: excludes o7 from n2yn (as above)
(iii) /w00 excludes o7 from NRNIVY; i.e. if someone who was Xnv ate D*WTP 07
1. however: there is no need to exclude o7 from s
a. reason: wa only applies to something which has a 9'nn (for people or the nam)
b. and: %wais, itself, the nn
b  or applies to fowl and mammals, whether permitted or not; 29n only applies to nmnv nnna
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